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Exam #4 (Chapter 6) Name /’ Date Period
\

FALL 2016

y,
SHOW ALL STEPS TO RECEIVE FULL CREDIT!! Graphing calculators are permitted.

1. The following table shows Mr. Oddi’s monthly bill from FPL, for December 2015 through November
2016. Find the least squares quadratic model for the monthly bill. Let ¢ represent the month, with # =
0 corresponding to December 2015. Round all coefficients to two decimal places.
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BONUS: Would the least squares cubic model provide a more accurate approximation? Provide a
numerical justification for your answer.
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For the following basis B = {uy = (1,1,1), u, = (~2,0,4), ug = (0,3,6}}in R*:
a. Transform B into an orthoGONal basis. Use the Euclidean inner product for R3 and use the
vectors in the order in which they are shown. i
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b. Using your answer to part (a), transform B into an orthoNORM al basis.-
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3. Classify the following sets of vectors as orthogonal (only), orthonormal, or neither.
a. {(1,0,0),(0,1,0),(0,0,1)}
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b. {(2:80),(004),(-2.2,0)}
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4. Use the functions f'(x) = x+3 and g(x) = 5x in C [~1,1] to find (f, g} for the inner product (f, g) =
[2, F0)g@)dx
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5.

Given the vectorsu= (0, 5,2,4)and v= (2,0, 1, 7):

a. Find the angle in radians between u & v.
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b. Find d (u, v) for the standard Euclidean inner product defined in R%.
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c. Find (u, v) for the inner product (u, v) = —u; v, + 2Uyv; — U3V + 2u,v, defined in R,
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